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MATHEMATICS CLASS 10TH

MULTIPLE CHOICE QUESTIONS

Q1. Choose the correct answer.

..;f ﬁn}h..; e e o # B J';. 1 /‘ Jir

1. Standard form of quadratic equation is:
ax°=0,a#=0 (D) ax*=bx, a=0 (C)

s uﬂ Gl .;_";:.J;L-r‘ Gann

(B) bx+ ¢=0,b=0 (A

ax?+ bx+c=0,a#0

2. The number of terms in a standard quadratic equation
ax*+bx+c=0is:

- JSE U + bx + =0 sl flas Ly 2

Four.¢ (D) Three . (C) Two » (B) One {1 (A)
3. The number of methods to solve a quadratic equation is: SR IAIDL LS S et G 3
Four .t (D) Three . (C) TWo » (B) One (i (A)

4. The quadratic formula is:

_ bi\/b2+4ﬂﬂ {D]

—h+ 2
¥ = b_\fb +4ac {C}
2a

2a

X

_e Ul S 4

= bi\/bz_qﬂﬂ (B}

— 2 _
= bi\/{b dac {A.:I
2a

2a

X

5. Two linear factors of x2 — 15x + 56 are:

(x+8) (x+7) (D) (x-8) (x= 1) (C)

LSkl x2—15x+56
(x-8)(x+7) (B) (x +8) (x-7) (A)

6. An equation, which remains unchanged when .is
replaced by % is called a/an.

None of these v’ 15'(D) w5 (C)

Radical equation

" ‘ . 1 .
*Ldﬂ(ﬁ-iﬁﬁfcﬂ-‘_;ﬂﬂ — -;gdﬁﬂu':u”?:.ehlﬁu 6
’ " X

e $h J:G:‘ (B}

Reciprocal equation

sl LE'L*’ = {A)
Exponential equation

7. An equation of the type 3% 4 32 ~ %4 g'= (s alan:

None of these %' ¢+ (D) =hls# (C)

Reciprocal equation

34324 g = bl T

;F:Lﬂél};; {ﬂ]
Exponential equation

=l (B)
Radical equation

8. The solution set ofequation 4x% — 16 =0 is:

{2} (D) {£2} (C)

-{...f.{j!-fdx‘? — 16 =0 ="t~ 8
{4} (B) {4} (A)

9. An equation of the form 2x4 —3x3+7x2—=3x+2=0
is called a/an:

None of these u+ /(D) =i =5 (C)

Exponential equation

:_Q».PT_JLL?r’2x4—3x3+?xz —3x+2=0=Mt" 9

..".«ler-f*u":;" {A)
Reciprocal equation

-.':slsbﬂ_',':u'f (B}
Radical equation

10. If B,a are the roots of 3x2 +5x—2=0,then a+3
IS

— 3
= = ©

,sg_dfdﬂ’+B;;_,Jr:p;u£3x‘?+5x—2 = [:]:.J;L-*B,ﬂ,.ﬁ A0

3 5
= @) > ®

1. If 8,a are the roots of 7x2— x+4 =0, then g, is:

-4 7
— O 7 ©

_::_AFJH,B;L.JKJJM:Z?KE —x+4= Omijwﬁ,g;ﬁ A1

4 ~1
- ® — ®
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12. Roots of the equation 4 x2 — 5y + 2=0 are:

- TUJJJ£4XE—5X+20=:«|JL" 12

None of these o (4 (D) Rational (¥t (C) Imaginary & # (B) Irrational ¢ # (A)

13. Cube roots of 1" e 2 A3

1,~w,—w? (D) -1,—w,w? (©) -1,w,~w? B) -1,-w,~w* @

14. Sum of the cube roots of unity is: Y K__,mﬂ!;j;ijb’l 14

3 (D) -1 (C) 1(B) 0 (A)

15. Product of cube roots of unity is: ig..._,fﬁJ"Lpb’__ﬂu;g.{.’JE’l 15

3 (D) -1 (C) 1(B) 0 (A)

16. If h2—4qc <0, then the roots of gx2+bx+c =0 Zw Ll ax+bx+c=0cbrivp2—4ac <0/ 16
are: -

None of these '3+ (D) Imaginary & # (C)

Rational Ft (B) Irrational J*t .= (A)

17. 1f p2=4ac >0 , then the roots of ax2+ bx+ =0

ax?+bx+ = D;f:Lr‘;:fJ@fJ’;JEIbz—d.ag >0 A7

are: UL
None of these /(D) Irrational ¢ # (C) Rational (£:4B) Imaginary & # (A)
18. 1 s s equal to: -;ﬂ_,:.l.,:l + 1.18

a p ‘ a

at+p a-p NS 1
” (D) ” (C) B (B) 5 A
19. g% + g2 is equal to: _..-“;.,..-:I,,-:ur2+.82 19
H+)8 (D) (ﬂ'+,l'3)_2ﬂ',8 (€) i + i (B) ﬂ'E_ﬁE (A)

ﬂ,E .BE

20. Two squares roots of unity are: il ,Jr;;._p,ui.;fb’l 20
w,w? (D) T=w {C) 1w (B) 1-1 (A
21. Roots of the equation 4x2 —4x+ 1 =.0.are: LT Ax—Ax+1 =02 21
Irrational (#¢ # (D) Imaginary & # (C) Real, unequal &4t (B) Real, equal & .. (A)

22. If g, 3 are the roots of x2 — ¥==1 = (. then product of
roots 2a,2f3 is:

-4D) 4 (C)

JIHQB,ZH;‘*LJHJLLXE—_K—"] = U..':,HL-‘[}',‘B;'?T 22
iaﬁi.t'ﬁhf/:p

2 (B) -2 (A)

23. The nature of the reots, of the equation
ax?+ bx+ ¢ = 0 is'determined by:

Discriminant .3/ (D)  Synthetic division <> &~ (C)

- bl !'.g!i ........ :ﬂ!ﬁrufu‘ui qxz +bx+c=0="1\ 23

— A€ (B)  Sum of the roots «+7¢7 (A)
Product of the roots

24. The discriminant of gx? + px + ¢ = 0is:

-b®-4ac (D) -b%-4ac (C)

,.:L:.L'r:n,b':fdn,j E/uxz +hbx+c=0Q=lsb 24
b’+4ac (B) b’-4ac (A)

25. Roots of following equation are 9x2 — 4x + 1 = 0:

Irrational ¢ # (D) Imaginary & # (C)

AU E9x2 —Ax +1 =0 25
Real, unequal & ..t (B) Real, equal &= (A)

26. Sumofrootsof 4x2 — 3x + 6 = 0O:

4 4
5 ) 5 ©

_-T_.;:‘?.Efjui:.q.xz —3x+6=0 26

3 3
" (B — (A
4{) 4{1
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27. Product of roots of equation 5x2 + 3x — 9 = 0O: _.:_..,,«-?’J’L;-bﬂ_,rjui5xz +3x — 9 = Qb .27
—3 3 g —9
— (D) = (C) = (B) — (A)
5 5 5 5
28. In aratio a:b, a is called: -i:'_L"L’n’J/Eu':a:bn:n;"‘: 28
None of these o+’ 1/ (D) Consequent /,$ -+ (C) Antecedent /. (B) Relation 3* (A)
29. In a ratio x:y, y is called: bl yUixy ey 29
None of these =1/ (D) Consequent /. #» (C) Antecedent /. % (B) Relation 3 (A)
30. In a proportion a:b :: ¢:d, a and d are called: i dasagtabiedt .30
None of these (¢ (D) Third proportional -3z (C) Extremes . / (B) Means .2'; (A)
31. In a proportion a:b :: ¢:d, b and ¢ are called: i esbutabiedet 31
None of these =1/ (D) 42 (C) Extremes . * (B) Means .2*: (A)
Fourth proportional
32. In continued proportion ac = b?, a:b=b:cissaidto ... Covslbrasiac=42 a:b= b:t:w’tfdy 32
be ......... proportional between a and c: e H;,:r;_,,t;
None of these o /(D) Means .-+ (C) Fourths# : (B) Third 1 - (A)
33. In continued proportion a:b = b:c is said to be ......... e bl et N Ceb slagtab=hio o S 33
proportional to a and b:
None of these %' ¢+(D) Means s-: (C) Fourthiiz (B) Third < (A)
34. Find x in proportion 4:x :- 5:15: XU Aix 515 34
12 E 4 75
2 (C) 3 (B) 2 (A)
35. If 4 {}:yz, then: Wxy gy?ﬁ 39
uy’=1 (D) uy*=K (C) u = ky? (B) u=y> (A
3. If 12 o ia  then: Vuy? o la /] 36
X X
2 = kx> (D =2 (C 1 k
y2=kx® (D) y*=x* (C) y?=—5 @) == A
i Y = Y~k then: P A
v W v W
u = y2Kk D) u=wk (C) u=vk* () y=wk? (A
38, The third proportional of x* and y? is: e ARy x? 38
2 4 2 2
- z© 'y @) LW
39. The fourth proportional w of x:y :: viw is: -g.rw( W2 Xy viw .39
X D) xyv (C) Y B YA
vy X v
40, If a:b = x:y,then alternando property is: 4;:__»f,»5bll¢a?ﬂa:b=x:yﬁ 40
a-=-b. _ x—y a+b x+y a X a _b
- D - c A 92 A
y y (D) 5 y (C) by (B) Xy (A)
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41. If a:b = x:y, then invertendo property is:
b _y

_,.a;__*—,f’f inab=xy./ 41

— == (D atb = Xty C = B E =— (A
- =0 5 (C) T—b x_y(} . y“
12. [ , then componendo property is: -:::Ha.:"f??ﬂﬂ = Eﬁ 42
b d ‘ ’ b d
a—b c¢—d ad a _ ¢ a _ ¢
b - g b ) a=b c—dq atb c+g M
43. The identity(5x+ 4)2=25x +40x+ 16 is true L lf( 5x+ 4)2=25x +40x+ 16=41 43
for: )
None of these %' < Zs” (D) All values of x w3 -7 (C) Two values of x u# + (B) One value of x = _{i (A)
44, . _ NG g ‘ 9 v Nx) . .44
A function of the form (x) = DG with D(x) # 0, AN(X)Z D(x) # 08 - bl oo 7 (x) = D0x) S
where N(x) and D(x): o ZD(X)

None of these . {5 wr (D) Afraction ~"(C)

An equation =1~ (B) An identity {1 (A)

45. A fraction in which the degree of the numerator is
greater or equal to the degree of polynomials in x is
called:

S g (D)
Algebraic relation

An equation =1~ (C)

- dﬂr’r ......... yolic oy L E,ff 23 E’MJ/;F U u’?/f 45

~w2h(B)/ Aproper fraction ~_zis (A)

An improper frastion

46. A fraction in which the degree of numerator is less than
the degree of denominator is called:

N [T PRIV N Y RILNT-G - NI

A proper fraction =1 (D) An identity -4 (C) A=zt # (B) An equation =i (A)
Anmproper fraction
47.  2x+1 o 2+ AT
. e xrrEman
(x+1)(x—1) ‘ " x+1)(x—1)
None of these _&' ¥ 2w (D) A proper fraction = (G) An equation =i:.- (B) b (A)

An improper fraction

48. (x+3)2=x%2+6x+9 s

vk (X +3)2 = X*+6x+9 48

None of these J& {4/ 2w (D) An identity =< (C) An equation =1~ (B) sl Zsk (A)
A linear equation
49 x2+1 . x> +1 49
s: s [l
(x—1)(x +2) ' (x=1)x+2)
A constant term /.u5(D) An identity £ (C) St (B)  Aproper fraction 21 (A)
An improper fraction
' Partial fractions of _ are of the form: s J}/j ......... 2o —2 20
x=1)x+2) (x=1)(x+2)
Ax +B C A Bx +C Ax B A B
+ +
¥ —1 +x+2 () x—1+ x+2 (©) x—1 x+2 (B) x—1 x+2 ()
5. : : " s - X+2 51
Partial fractions of are of the form: OO v, ALIVAL
(x +1)(x*+2) i T 1) +2)
A Bx Ax +B C A Bx+ C A B
+
x+1 - xixgp O x+1- x21p © Xx+1 x242 ®) xr 1 xzeg O
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52. . . x2+1 I 4 IE + 1 52
Partial fractions of are of the form: NI L0 AT
(x+1)(x — 1) o YD) -1)
Ax +B C A B A Bx +C A B
+ + +

x+1 +x—1 ) 1 x+1 x—=1 © 1+x-+—1+ x —1 (B) x+1 x—1 A

53. A collection of well-defined objects is called: -s:‘_t'Lk-J/JrfgfL-ﬂfl} 03
3 =t (D) Set = (C) Power set = . (B) Subset e (A)

None of these

5. Aseto={g|a,b € Z nb:ﬂ) is called a set of:

el i # (C)
Irrational numbers

None of these s %t (D)

-;;_ru.f_*f@=(%|a,b € 7 nbiﬂ) o

Natural numbers s« 1.5 (B) Whole numbers s/ (A)

59. The different number of ways to describe a set are:

- :Iﬁﬁ);‘%}ﬁii./ugfq 55

Four . (D) Three . (C) Two » (B) One (i (A)

56. A set with no element is called: -;_;_ru{ uf,.:b_-,fj[,if.-_ﬂu? - .96
Super set =~ 2 (D) Singleton set »~(£ (C) Empty set 2~ ¢ (B) Subset o5 (A)

57. The set {x| x € W A x < 101} is: = P x EW A x <101} 5T
Finite set =~ (D) Null set =~{i (C) Subséle G (B) Infinite set =r stz # (A)

58. The set having only one element is called:

-,T_ru;ﬁ;r;;ﬂvﬂ...iﬁ;ﬁﬁ;: .08

Subset =& (D) Singleton set (£ (C) Power.set .. (B) Null set =~ (A)

59. Power set of an empty set is: e breralberds .59
(2} ) (@, {a} ©) (@} @) 2@

60. The number of elements in power set {1,2,3}: -;:'_J}'E'JUJL;QKJI._‘Z:‘J}‘E {123} .60
9 (D) 6AC) 6 (B) 4 (A)

61.1fA < B,then A U B is equal to: e bxiA U BixA € B/ 61
None of these (D) (1 (C) B (B) A (A)

62.1f A < B,then A N B is equakto: e twdA N BizA c B/ 62
None of these (D) & (C) B (B) A (A)

63. fAcB,thenA-Bis equaTtn: o e trgA-BixA C B/ 63
B=A (D) @ (C) B (B) A (A)

64. (AUB) U C is equal.io;

ANBNC) (D) AUBUC) (©)

-;:_l:‘ﬁ;{'.{(AUB) Uc .64

(AUB)NC (B) ANBUC) (A

65. AU (BN C) is equal to:
AU (BUC) (D) (ANB)U(ANC) (C)

<txi.AU (BNC) 65
AN(BNC) (B) (AuB)NAUC) (A

66. If Aand B are disjoint sets, then A U B is equal to:
B UA D) @ (C)

e btrizA U B?uﬁ;{_f}"" /,,-“B,a,-fAﬁ .66

67. If number of elements in set Ais 3 inset B is 4, then
number of elements inAx B is:

7 (D) 12 (C)

B (B) A (A)

B30 S i 2 AXB I st B st 351 5 S o A ST 6T
S s

4 (B) 3 (A)
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68. If number of elements in set Ais 3 and in set B is 2, then

s St JE CAXBY 52 2B w1351 Sk i A /1 68

number of binary relations in Ax B is: e n

2% (D) 2° (C) 2° (B) 2° (A)

69. The domain of R ={(0,2), (2,3), (3,3), (3,4)} is: _E:-_&ﬁngR;ﬁR={(0,2), (2,3), (3,3), (3‘4)}ﬁ 69
{2,3.4} (D) 10.2,4; (C) {0.2,3} (B) {0.3.4} (A)

70. The range of R ={(1,3), (2,2), (3,1), (4,4)} is: -« dxRangeRixR={(1,3), (2,2), (3,1), (4,4)}/1 .70
{1,3,4} (D) {1,234} (C) {3,2,4} (B) {1,24} (A

71. Point (-1, 4) lies in the quadrant: e btunli(41-) 85 .M
V (D) Il (C) Il (B) | (A

72. The relation {(1,2), (2,3), (3,3), (3,4)} is:

One-one function (D) Not a function (C)

‘e Ul tdi20{(1,2), (2,3), (3,3), (3,4)} 4 .12

Into function (B) Onto function (A)

73. A grouped frequency table is also called:

None of these ' /2w (D) L 28 (C)

Frequency polygon

ce P Ure 2/ T3
= 4545 (B) Data »i»* (A)

Frequency distribution

74. A histogram is a set of adjacent:

:M.;_;;féﬁﬂ 74

Closed figure ¢ . (D) Circles €21 (C) Rectangles¥y&(B) Squares kU - (A)
75. Afrequency polygon is a many sided: SRR LUk e 255 15
Square == (D) Circle ».71; (C) Rectangle % (B) Closed figure (¥ . (A)
76. A cumulative frequency table is also called: < ek Jse $o8 § 476
None of these 7 4+ Lz (D) = i85 (C) Data »1» (B) s (A)
Less than cumulative Frequency distribution

frequency distribution

7. Arithmetic mean is a measure that determinesa value of
the variable under study by dividing the sum.of all
values of the variable by their:

None of these »../ (D) Denominator & # (C)

Lo 0l Bt o i $s P ae selbn o T
:.’:/r‘:jj ......... Lﬁ[;,l'lzrr,.ﬁﬁ'f

Group =+Lz (B) Number 1.7 (A)

78. A Deviation is defined as a difference of any,value of the b S 25 oK1 T8
variable from a:

All of these — ~ ¢ (D) Histogram ++% (C) Sum = ¢¥ (B) Constant ..+ 5 (A)

79. Adata in the form of fiequency distribution is called: _.;_twfsrfutgﬁurfdjﬁ .19

Same L& €1 (D) Histogram ¥ {¥(C) Ungrouped data si» s/ 2 (B) Grouped data s+ s/ (A)

80. Mean of variable with simifar observations say constant -t bl & Lkt 571 a o L8 2 .80

KIS:

Positive =3 (D) Zero # (C) K itself ks# =14 (B) Negative & (A)

81. Mean is affected by change in: i?rﬁﬂﬂjh:;i.frutf ......... L 3L .81
Space .- (D) Origin zuz" (C) Ratio =+ (B) Value =4 (A)

82. Mean is affected by change in: e b A e L SR b L 82
Ratio =+’ (D) Rate 7/ (C) Scale i+ (B) Place & (A)

83. Sum of the deviations of the variable X from its mean is sk, 2§01 51 e bl Yo LU ﬁ/f:‘u’f.ﬁﬁ

always:

None of these .« /(D) Same =i (C)

One {1 (B) Zero # (A)
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84. The n'" positive root of the product of the Pk oo 23N 2 e Lt aX gy Xy Xgyereneny X, B4
X1:X9,X3,......,X,, Observation is called: -
Median _:¢-s (D) Geometric mean &-»5 41 (C) Mean L-s1 4> (B) Mode »:& (A)
85. The value obtained by reciprocating the mean of the _.;_t’ilﬂl;;l;}l; K L2 aX gy Koy Xgyanenney X, 8O
reciprocal of X4,X5,X3,......,X,, observation is called: |
Mode »»¢ (D) Harmonic mean &-s1_&74 (C) Median :&-: (B) Geometric mean L5 .41 (A)
86. The most frequent occurring observation in a data set is _;:_Jllgj/ bl T 2 polic or Sl .86
called:
Mean t-»1dv> (D) Harmonic mean &-s1_&7# (C) Median _:-s (B) Mode »:. (A)
87. The measure which determines the middlemost -il"_t'u:‘r-’f_b:.ﬂ_}k"ﬂ L}ﬁ!f;:;.g_:,u,l 87
observation in a data set is called:
All of these = (D) Mean 5-s1L> (C) Mode «t (B) Median _-e-: (A)
88. The observations that divide a data set into four equal -.:-_t*lt;ﬁf_frﬁy oS ;lgiﬁjlr‘ﬁ;«k:,l»;ﬂl .88

parts are called:

Harmonic mean k-» _&7# (D) Percentiles .= 3.4 (C)

Quartiles = .1z (B) Deciles = ¢ (A)

89. The spread or scatterness of observations in a data set
Is called:

Mode _:-+ (D) Quartiles w545+ ~ (C)

Sk A il S 89

Range .5(B) Average .- (A)

90. The measures that are used to determine degree or
extent of variation in a data set are called measures of:

Mode _-¢-: (D) Average -+ (C)

,;_rua’;g;s’.“......,-—_;"}-FIE,}JL,{‘_..J,:'L,cnfg;,gu,,l 90

CentraMendency we.¢/ - (B) Dispersion &% (A)

91. The extent of variation between two extreme
observations of a data set is measured by:

None of these u7 342w (D) Quartiles <. (C)

el P o . ~
- E&}fdfiﬂiﬁdﬁfufﬂfd—l 91

Range = (B) Average .- (A)

92. The mean of the squared deviations of x; observations
from their arithmetic mean is called:

Average .- (D) Range'->- (C)

-;:‘_li'l.gl.‘«r’. ........ }r.!r.ﬂlL&L?L;_)ﬁfi._;lf":;!v:fdt?i}(i 92

17164 (B)
Standard deviation

Variance =1 (A)

93. The positive square root of mean«of the squared
deviation of x; observations.from-their.arithmetic mean is
called:

J'fiLSJLL' {C}

Average L-4.(D)
Standard deviation

;,Er;fi:ihﬂfd\b?:iu:’ff::..ﬁlffaép ;';...*:u}ﬂi 93
-.;_;Lf%"'_ ......... f

Range =~ (B) Harmonic mean L k7 (A)

94. The union of two non-collinear rays, which have
common end point is called:

Aradian ¢4 (D) A minute =+~ (C)

i;._:_t'.l,'r:'/. ........ ;:foﬁJ/"-;/!}/h.LjhfuaufbﬁMr‘?/;u 94

A degree .5 (B) An angle .. (A)

95. The system of measurement in which the angle is
measured in radians is called:

,;F;.LrLl:'/("J ......... -T_-J'lg uitfu{.‘;,.afg.d;guuiﬁrwi £k .95

Circular system -7 (D) MKS system ~ 41 L4 (C) Bk L# (B)  CGS system ~~ 218y (A)
Sexagesimal system

9. 20°=..... 20°=..... %6

3600° (D) 1200" (C) 630" (B) 360" (A)

9. ST“ radians: -.f;_t-m:u;;gﬁ—“ 7

30° (D) 150° (C) 135" (B) 115 (A)
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98. |ftan6=.\/§,therl 8=

-gﬁ;ﬂ.{e;ﬁtan 6 — ﬁjﬁ 98

30° (D) 60° (C) 45° (B) 90" (A)
99. SEEEB = -.:‘_.t':f.,{I;{SECZQ 99
1—tan®@ (D) 1+cos?0 (C) 1+tan®0 (B) 1—sin’6 (A)
100. 1 1 1 1 100
= e by +
1+5in0  1-Sing S sing | 1=sing
cosf (D) sec?0 (C) 2cos?6 (B) 2sec?0 (A)
101. %GGS ecd5 = —ebrsl % cos ec45 101
V3 J2 (C) 1 3 1 A
;O 2% 2z
102. Sech cotf = <cttnxSech cot 102
sind 1 1 sin (A)
cos@ (B) sin@ (©) cos@ E)

103. cosec?0—cot0 =

-k #44cosec?d — cot?f 103

tan@ (D) 0 (C) 1) 1 (A)
104. A complete circle is divided into: Y S ;;_r@gﬁ' E}uu;_{r 104
360° (D) 270° (C) 180" (B) 90" (A)
105. STH adian = ) ‘:._t.mw_riﬁ_ﬂ 105
270° (D) 1802 (€) 135° (B) 30° (A)
106. Cot60° = -2 Cot60° 106

2 (D) 1 J3 (B) 1
-~ (C — (A
> © 5
107. Sin?6+ Cos?6 = -< b4 8in’0 + Cos?6 107
2 (D) 1(C) cos@ (B) Sin6 (A)
108. Radius of a circle are: LU sEL 108
ERPS7 I{D) All unequal .o # ¢ (C) e 2 (B) All equal 1.7 (A)

Half of any chord Double of the diameter

109. A chord passing through the centre of a circle is called:
Secant # (D) Circumference s £ (C)

- t".EJ/F:LJL-L.;)f;.}’} e 71 109
Diameter % (B) Radius 15 (A)

110. Right bisector of the chord of a circle always passes
through the:

Diameter & (D) Centre -/~ (C)

I L_EL;??J—:‘EJ‘"MJ:“ ol 26 M0

Circumference .= (B) Radius _1: (A)

111. The circular region bounded by two radii and the
corresponding arc is called:

e rﬁfﬂfﬂf/fau';:ﬁt‘é:;;)f.f!fg_)rhﬂﬁ,_:’*ini&’.-jh A

Segment of a circle -4 (D) Hge 1 (C) Sectorof acircle £ ¥ i (B) Lok s (A)

Diameter of a circle

Circumference of a circle

112. The distance of any point of the circle to the centre is
called:

An arc ¢ (1 (D) A chord 7,1 (C)

et Sk S L E Lz M2

Diameter % (B) Radius 11 (A)
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113. Line segment joining any point of the circle to the
centre is called:

Perimeter 41 (D)  Radial segment = 51., (C)

is‘:.t'ﬂv;’/. ........ Ufji_llf}rﬂfaﬁhﬁféz;.jh 113

Diameter + (B) Circumference s (A)

114. Locus of a point in a plane equidistant form a fixed

*‘.:'t-wl' ........ uﬁ,;.liﬁgla:f,&'ﬁof,f;:ﬂﬁ}rﬁidﬁ’ 114

point is called:
Diameter 4 (D) Circumference .+ (C) Circle »21: (B) Radius 1. (A)
115. The symbol for a triangle is denoted by: cerled L& S 6 ek 115
| (D) 1 (€ A (B) Z A
116. A complete circle is divided into: et S 16
3600 (D) 2700 (C) 180° (B) 90 (A)
117. Thrc:légh how many non-collinear points, can a circle ?,‘;_n:f - A& MT
pass”
None of these 7 ¢+ wr (D) Three % (C) Two »: (B) One (i (A)
118. a _i;.dL[fffl:‘LLfﬂDBc)fLFd:}h 118
C
B B
A A
a (i (D) a5(i(C) a6 L (B) a Ui (A)
119. 3 -rf_.dll-rrft'll-:r'ACBdﬁfdﬁu 119
C
B B
A A
a 4 (1(D) a s (C) awgvLi(B) ausLi(A)
120. a --';-Jﬂ:'ff c 0 AOB: F 1 120
B
A
a #(1(D) a L (C) a ey (B) ausLi(A)
121. E ﬁ ufuﬁr:l'uuﬁ’ﬂls;;i‘fﬁuwc-? CDAB }J!Juﬂuﬁ{}}:‘:'i‘ 121
B D
B
A
A
C D
C D
a5+ (D) a S (C) Ju # (B) a $ii# (A)

For more, Visit (www.taleem360.com) & (www.ustad360.com)




122. In the adjacent figure, find semicircular area if mOA A mOA=20em /18 » Jke s 2 P Js 122
=20cm and T =3.1416 mM=3.1416

I 1T EERT L E TR E

A 0 B
628.32cm? £ »628.32(D)  436.20 cm? < ¢4 +436.20(C)  314.16 cm? /¢ »314.16 (B) 62.83 cm? ¢ +62.83 (A)
123. In the adjacent figure, find half the perimeter of circle ﬂ'mﬁﬂoﬂmsﬂ-fﬂﬁlKf—-}"h—iﬂ}uﬁ Jé Iy 123
with centre O if ;0,4 =20cmand Tt~ 3.1416 n=3.1416

I T ERET T T BEE

A 0 B
188.50 cm ~188.50 (D) 125.65 cm #125.65 (C) 62.832 cm ~62.832 (B) 31,,42 cm 31.42 (A)
124. In the adjacent circular figure with centre O and radius ¥~/ 7*=!/ W WIS, U0 ..I"J'}""ﬁ',"”f?"' 1241
5cm, the length of the chord intercepted at 4cm away - -""UUUIJJ‘-’?-’QEL"J-B{

from the centre of this circle is:

o4

A
9cm9(D) 7 ¢’ 7 (C) 6 cm 6 (B) 4 cm 4 (A)
125. In the adjoining figure, there is a circle with'cehtre O. If - ABF 407 i F S inine s 1B
mZAOC=120"and DC||AB.then mZACD" tx1.Lm/ACDYDC||AB#'mZAOC =120
S: -
E b

60°4D) 50° (C) 300 (B) 40% (A)

—e bl s EJT{E}U{J}LB:;_EF;M 1267
@

126. In the adjacent figure of the circle, the line pTQ) is
named as:

Q

A secant ¢ {1 (D) Atangent 2 (1 (C) Achord 7,_{i (B) An arc ¢ (1 (A)

F SR - - —
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127. In a circle with centre O,if OT is the radical segment

and pTQ Is the tangent line, then:
Q

(D)

o7 < OT|IPQ (©)
OT is right bisector of PO I1PQ

T IV LIPTQAZ T OT L ih 07 7 120
Q

PQ £ 5T ©)

128. Aline which has two points in common with a circle is

- rt‘:d’:uﬁj}'-i‘i-mhzﬁvif_}uiu’?ﬁ.iﬂ 128

called:
Secants7i; (D) Tangents— 1, (C) Cosine¥— 71 (B) /Sine of a circle Sine¥— 71 (A)
Secant of a circle Tangent of a circle Cosine of a circle
129. Aline which has only one point in common with a circle B L o S OO L kAL 129
is called:
Secants—~1: (D) Tangents< 7 (C) Cosine¥—v1: (B) Sine of a circle Sine¢—71; (A)
Secant of a circle Tangent of a circle Cosine of a'circle
130. Two tangents drawn to a circle form a pointoutside it~ &# e S LB & e Blalo il 130
areofin ....... Length. o
Triple ¢z (D) Double ¢+ (C) Equal - (B) Half < (A)
131. Acircle has only one: P S Gkl Ak 131
Centre > (D) Diameter % (C) Chord > (B) Secant Zv 15 (A)
132. Atangent line intersects the circle at: K S muw sl 132
No point at all % &, 85" (D) Single point . % _ti (C) Two points L& (B) Three points L6 (A)
133. Tangent drawn at the ends of diameter. of.a eircle-are Y 2 . uiuﬁfuruig,;us LBl 133

...... to each other.

Perpendicular »+* (D) Collinear & (C)

Non-parallel &5 # (B) Parallel &1+ (A)

134. The distance between the Centers-of-two congruent
touching circles externally.is:

sk B i (D) A2, (C)
Twice diameter of each . The diameter of each circle
circle

_.:_.t’ﬂ,liﬁb/)ﬁ,fi: ujjhi_ﬁr!lf‘i-'!i-;w{gjb&}jﬂ 134

12K (B) Of zero length $u4 # (A)

The radius of each circle

135. Aline intersecting a circle is called:

Diameter 7 (D) Chord > (C)

_ijﬁuﬁ_;@”ff_}u 135

Secant £ (B) Tangent v (A)

136. The tangent and radius of a circle at the point of
contactare ..........

None of these o (4 % e (D) Perpendicular -+ (C)

-;_,,;rﬁ*_.rf,;f_fu_gmumguEf_}u 136

Not perpendicular % s+ (B) Parallel 15 (A)

137. How many tangents can be drawn from a point outside
it:
Four.¢ (D) Three £ (C)

beélféfljb' E.:fiuf’l' o b U{-‘!E Lo 137

Two :: (B) One {1 (A)

138. A4cm long chord subtends a central angle of 60°. the
radial segment of this circle is:

4 cm (D) 3cm (C)

K, u"h.ﬁ(r’_.fh-{_t'lfc,:ﬂ}?ﬁﬂu;;?f/}}m:&wr"‘t_g 138

2cm (B) 1cm (A)
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139. The length of a chord and the radial segment of a circle
are congruent, the central angle made by the chord will
be:

75° (D) 60° (C)

,::UL',:)‘} s e Iyt sl s S U1 7 et 139
Kt

450 (B) 309 (A)

140. Out of two cungruent arcs of a circle, if one arc makes
a central angle of 30° then the other arc will subtend
the central angle of:

¥ 30 jJ;d/':r'EfuJ'_ﬂﬁ:_.ukurf;fb“uur’_.ﬂ:-ﬁ 140
SV o SO .—ﬂ.rﬁf /‘bjdf.u

60° (D) 459 (C) 30° (B) 157 (A)
141. An arc subtends a central angle of 40° then the A, ST 80 30 L i 400 S 6 L A4
corresponding chord will subtend a central angle of: -
80" (D) 60° (C) 40° (B) 20° (A)
142. A pair of chords of a circle subtending two congruent Lusto. SR 2 e Usim ,-J_;l;LEJ S 2 142
central angles is:
Parallel i3 (D) QOver lapping - > (C) Incongruent f &+ # (B) Congruent J - (A)

143. If an arc of a circle subtends a central angle of 60°,
then the corresponding chord of the arc will make the

central angle of:
80° (D) 60° (C)

KT P60 L e 60 KT LT 143

40°-g) 200 (A)

144. The semi circumference and the diameter of a circle
both subtend a central angle of:

3600 (D) 270° (C)

byt et fjljdﬂ}ﬂf_iﬁif_ﬁu 144

1800 (B) 900 (A)

145. The chord length of a circle subtending a central angle
of 1800 is always:

None of these o {+ 2w (D) skt (C)

Double of the radial segment

ﬁ.l_f .......... L'E‘L-‘Ju f:f::_L-'IElUD,.AI';,_,x' f..-“'!gf._-f-l.!‘/f 145

Al S [E}
Equal fo the radial segment

f=u (A
Less than radial segment

146. If a chord of a circle subtends a central angle 6f 607,
then the length of the chord and the radial'segment
are:

Perpendicular »+* (D) Parallel Ji152(C)

AT Tt sz 6600 a8 5k i L1/ 146
iﬂdj‘: ......... U':

Incongruent 1.2 & (B) Congruent .i.; (A)

147. The arcs opposite to incongruent central angles of
circle arc always:

Perpendicular s+ (D) Parallel g1 (C)

L S AdeL L u;ﬂﬂfd}r}jl}“/_f pb ekl 147
_V'r

Incongruent f &+ # (B) Congruent J = (A)

148. A aBC mAC = 3emmBC =4cm
mZC=90

3.5¢cm (D) 2.5¢cm (C)

mBC =4cmmAC =3cm o~ AABC 471276 " 148
K ind i e Sl el gim/C=90"

_.’:—.JJ}J
2.0 cm (B) 1.5¢cm (A)

mzZ2=2mZ1 (D) mzZ2=3mZ1 (C)

:.;,_gaé_,m#md;f;,;g;;_ﬁﬂﬂn,&{:lam F 149

mZ1=2mZ2 (B) mZ1=m«zZ2 (A
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180. ;m /3=75"m~L1 m£2
C D

J o
1
[ |
[
i
02

757,75 (D)

& ml24mllemZ3=750 10 F 190

C D
q q e
75° 3?1— (C) 3?1— 75" (B) 3?1— 3?1— (A)
T2 2 27 2

&

75 (D)

50° (C) 25(B) i 1? A)

X

75 (D)

50 (€) 25 (B)

153. 357

AOC. .12 v 3L ABN <0 r€is t F 153

o sasrirens X

o -
N
96° (C) 64° (B) 32° (A)

i, xfi.ul.._..:{‘_.o;"rf{f._}'! L_,ff.:_,.ﬁ‘-" 154

AN

220" (C) 110" (B) 557 (A)
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155. a e saitraans }{:r,vlj..'}‘::_O}r/Efr_.}uL,quﬁ 155

60° (D) 45° (C) 30" (B) 15 (A)

45° (C) 30" (B) 15° (A)

157. a —h
C

125" (D) 100" (€) 75" (B)
158. The circumference of a circle is called: _.;;.t'uff L#¥e 71 158
Tangent L~ (D) Boundary «,+(C) Segment ¥ (B) Chord Z: (A)
159. Aline intersecting a circle is called: i;‘;.t*w/ s 159
Radius 1. (D) Chord > (C) Secant &5 (B) Tangent ov (A)
160. ISI? ﬁmrtinn of a circle between two radiiand.an arc is -ﬁ".t'[lgj/iﬂt}k‘):iu}"ruﬂﬂfl_f; L7281 160
ed:
Diameter 4 (D) Chord >: (C) Segment .+ (B) Sector AL 718w (A)
161. Angle inscribed in a semi-cirele is: bl e i id 161
0 3 © 3 ® 2 ®
162. The length of the diameter of a circle is how many e dnllE L LU B L infi 162
times the radius of the circle:
4 times 1’4 (D) 3 times "3 (C) 2 times 2 (B) 1 time 1 (A)
163. The tangent and radius of a circle at the point of e kISl W 163
contact are:
Horizontal 2 (D) Perpendicular .s#; (C) - Not perpendicular J# »»7. (B) Parallel &5 L (A)
164. If two circles touch each other, their centres and point B A p Ll S e o Liesiines 164
of contact are: il
Same point 3¢ (D) Collinear ¢ # (C) Non-collinear & # # (B) Coincident 3=~ (A)
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165. The measure of the external angle of a regular
hexagon is:

T T
% ©) 5 ©

_r:_.::;.!'f,il.ﬁ" u;_‘l;v"__-JUL}J;ﬂiJk"uﬂfj 165

T T
2 ® 30

166. If the incentre and circumcenter of a triangle coincide,
the triangle is:

All of these {w=nis¥ (D)  An equilateral £ w=ui gL+ (C)

e Q2 leTunTT S po S p s J1 166

el /276 (B)  Anisosceles cEUigi- (A)

A right triangle

167. The measure of the external angle of a regular octagon
S:

m m
> (D) r (C)

- - v o QT
e G Sugtid e Ly A BT

m m
s (B) 1 (A)

168. Tangents drawn at the end points of the diameter of a
circle are:

Un-parallel 315 # (D) Intersecting ¢ (C)

- r?d:ﬂprw;;u}fi/gif’_-ju .16‘3

Perpendicular s»* (B) Parallel s (A)

169. The lengths of two transverse tangents to a pair of
circles are:

Non-overlapping /1 > # (D) Overlapping -1 > (C)

- {_-;; L_JELJ' ur,,;:,f[,-" L,f'yd‘ 24 UsAasr 169

EqQual..~(B) Unequal ... # (A)

170. How many tangents can be drawn from a point outside
the circle?

Four ¢ (D) Three o2 (C)

— - .
?L,jél.f- f,u’b"i;:ﬁ;g Ze 21y 170

l'l'llll

Two » (B) One {1 (A)

171. If the distance between the centers of two circles is
equal to the sum of their radii, then the circles will:

Do not touch 2/ (D) BES S 1 b (C)
Touch each other exterpally

uﬂd.fl:,jﬂ..{l..{ﬁ.,nfiurh;,.lfﬁ;y.u Kﬁfiujﬁl;ﬂ/ﬁ A71

-

Do-notintersect 2/ & (B) Intersect _z2 /2 (A)

172. If the two circles touch externally, then the distance
between their centers is equal to the:

Zero «.; (D) = L ¥0 A (C)

Productef their radii

Sk p Zunl 5 e e pnLic i /i AT2

~e bl bl
,F.ff E:;_,'r"u (B} .:Lr; E".;_,'rl.u {A.)
Sum of their radii Difference of their radii

173. How many common tangents can be'drawn for two
touching circles?

One (i1 (D) Four .- (C)

oy . "
?L.«.TEELE'E-'EJ .,.'}-*’&iuulm.r:#.fﬁ"u A73

Three £ (B) Two » (A)

174. How many commen tangents-can be drawn for two
disjoints circles?

?Ugélf.:_’fuu..f}i‘ffi usflﬁgﬁj‘/ju A74

One £ (D) Four .¢ (C) Three & (B) Two s (A)
175. Circles which have three common points are called: nZE e 2t ey ATH
Same point &4 (D) Not logical t.3* (C) Regional ¢ ~ (B) Matrix ¢ > (A)
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i e | Gul g

- Gl 9 S i Gt i) 6 gt 5195 Sl b 3dited : 2, el | Gt

Write the quadratic equation in the standard form and point out
pure gquadratic equation. (x + 7)(x — 3) = -7

(I + ?J I[I _-.éb-‘:jﬁ‘?u::r|.FL-"".'_;-_."J'.FL-'.!:;Jﬂ-iucl";ﬁ.;j;ﬁ',tﬂjﬁ;,bp

Write the quadratic equation in the standard form and point out

i ; +1
pure quadratic equation. ﬁ +

3) = -7
X x+1

- il -
— + —= 6_P£LFJ:L'E’:L,I?:-|.!L"{_;-JJ.UJ{;JJ|#JIJIELEJ"L""IIu:-I.I'L-""'

X
Solve by factorization: 3y* = y(y — 5)

3y =y(y — 5)-u /S5 2

Solve the equation using quadratic formula:2 —x* = 7x

I —x2 =Ty __"E"_i:-hP.;_"JL‘;_l;U!’.JEh{JJf‘J}r‘;-'Ij'L"'.

Define second degree equation and give an example.

__,-_'_u_,lc?mru_*f.._gx;'l_, gl (B0

Write standard form of quadratic equation and formula.

-L_,"fu f r‘:ﬁb/'i_;ff;(_'g.l.rsl.; xS s L_';..-:. fplo 20

Define Reciprocal equation.

-l-v':f — /"T Satilay

Define exponential equation.

- I4 am
o %, . 1 %
-;_;_j—i',—"'L':-;*—lsLﬂuL-.':‘F

Define radical equation.

P I .
R P Ol e

Write names of methods for solving a quadratic equation.

. = e
-Jfﬂ,’*l‘i.'ﬂ.'-..,,':z'/bf-é.dﬁu S sl S

Solve:x* 4+ 2x—2=10

x2 4 2x =2 =00/ f

Solve with Factorize : 5x% = 15x

Write in the standard form of the equation — 4+ =3
x+4 x-4

5x% = 15x-y /S $F 2
1 1
Lyt 3 B

Solve : (Ex - %)2 = %

x+4 r—4
(2e-]) =3

Solve :v/3x + 18 =x

Vix +18 = x.u/f

Find the discriminant of the following given quadratieequations;
6x* —8x+3 =0

6x2—8x+3=0 -ﬁ’;"uﬂjjbﬁ;fﬂ.ﬂduu

Find the nature of the roots of the following given.guadratic

equations and verify the result by solving the #guations; x% — 23x +
120=10

_ﬁ;,_::' _4..-17._:":-_;" L-i./r;_,-w S ,;,|,L,_,-”I£I-',JP‘|-'L3ILE.;_,"|!J
6x*—8x+3=10

Evaluate (9 + 4w + 4w?)

(9 + 4w + dw?) Sppnd

9 — 0
—14+=3 -1—43
Evaluate ( Z' ) - ( b

(55) + (255) oeet

Evaluate w?®” + w?® — 5

w3 + w38 — 5 _ghppnd

Evaluate w™ 13 + w1/

w13 4+ -ﬁr:‘"":ﬂf

xii) Prove that x* + y? =(x # ¥)(x + wy)(x + w*y)

¥4y = (x+ v)(x + wy)(x + wly) S

Without solving, find the sun and the product of the roots of the
following quadratic equations. x> — 5x +3 =0

x:—5x+3= ﬂ-i:-l".’hﬂll—r;&Uthf-liﬁ-/éJ;J}ﬁ;f”Lﬁhﬁijjj

Find the value of k if Sum of the roots of the equation x? +
(3k—7)x+5k=0 is gtimes the product of the roots.

AKX+ Bk —T)x + 5k = 0 anleSiy/oqe 230k
N AL LS L

if a, § are the raots of the equation x* + px + g = 0. Form

. ()
equations whose roots are E ,5

L,L'LQIJLF-‘;.UJ:;;L,-'HLJ"L-'Z. .T|:T2 + px + q = 0. =nl= o I?url
a g
g'la”

Write the quadratic equations having following roots. 1 + 1,1 —1i

TH i 1= i Bl Gomndis s,

For more, Visit (www.taleem360.com) & (www.ustad360.com)




If a 3 are the roots of the equation x% + px + g = 0. Form
equations whose roots are a®, f*

l..-'fb:-.‘:-fhl.#' ;Ju'j:;;uﬂu'jrii x?® + px +q =0 =i~ ﬂfﬁ;’ﬁr

2 p2
a“, -
Use synthetic diyision to find the quotient and the remainder, when (x% + 7x __LLE."’F;;»L};LJ:,bﬁybLﬁL,fJﬁlf’ﬁibe;

Find the value of h using synthetic division, if 1 is the zero of the
polynomial x* — 2hx? + 11

¢x? — 2ha? + 11682 1w f’i‘:h’wﬂuh;.ulwlif‘n "

LIV

Evaluate (=1 +v=3)% + (-1 —V=3)°

(—1+V=3)0 + (-1 —V=-3)oy i

Define symmetric function. *u;f-é*fuJﬁu%
Define Simultaneous Equations. Sy S

Discuss the types of equation roots? x2 + 6x — 1 =0

X2 + 6x — 1 =0z es Ui sl eisls

fa = :_then find w?

Py = -1+y-3
SELe R New = . Si

Prove that the sum of all the cubes of a unit is zero?

-.;rﬁ)‘4,ﬂfi‘__.ﬂ|;;flﬂﬁ Z Sy f e

Find the product of the unreal root cube of the unit?

S L g WP g i

Find the value . ?” + w?® + 1

W3 + w38 + LS nd

xlii) Find the value - (1 — w + w®)*®

(1-w+ w?)by el

Express as a ratio a:b and as a fraction in its simplest (lowest) form.

27 min. 3 Osec, 1 hour

27 min. 3Osec, 1 hﬂur.ujﬁfwbﬁuﬁdbﬁ}ﬂﬂ a: bes

Express as a ratio a:b and as a fraction in its simplest (lowest) form.

75°,225°

75°,225 - A6 AF Tl a by

Find the value of p, if the ratios 2p + 5: 3p + 4 and 3: 4 are egual.

If the ratios 3x + 1: 6 + 4x and 2:5 are equal . find the value of ¥

sl 3 p 5 3p+ 420 S e i p

-ﬁr:@‘:-fufx?umfl,:lﬁm 3x+1:6 4+ 4.1':,",6:.—);[

If a: b = 7: 6. Find the value of 3a + 5b:7h — 5a

ke dfa+5b:Tb-Saa:b="7:63

If y varies directly as x, and ¥y = 8 when x = 2, findx whepy = 28

y = 28.6x :ﬁlﬂﬁ'?ﬁx =24y=8 .-'Jll,_;':'iucn:-"l.ﬂj?{.f!'}'frr

Find the values of the letter involyed in the contintied prepattion.
8, x,18

8,x,18-zf i e

If y o x, and y = 7 when x = 3 find x whenw.=35and y when
x =18

X=18 Byay=356x.2 ,lux=3y=Tuxwyxx Ji

-

k

Find a third proportional to 6,12

6,12 &=

Find a mean proportional between x*' 77, x; x?—y2, Y 5 oot s
Find a fourth proportionalto 4x*,2%*,18x° 4x* 2x3, 18::: _éﬂ'-"._-fuuf
Find a mean proportional between20, 45 20, 45.22 r:b”wu'ujku
ifa:b =c:d,{a,b,c,d #0) then show that % = :2; SgEetia b =c:d(0 Zabe.d/
Define joint veriation. ) :J}:-E‘;’-‘*uf-"-f‘f-,—ffif
Define direct variation. A
Define inverse variation. NSNS T
Define componendo dividend theorem. a«.{;u”_r--“-f".uwur-,-f?ﬁ’

If 6:x::3:5 thenfind x

Cziob gt Ix 03 5:6.7

il bl e el | Gt iy § g 5l G ol i yihay : 3 yutand | G

x¥-=11

Resolve into partial fraction. —D(x+3)

x—11
(x—=4)(x+3)

-.,,_,.:..-’r ul'.'uvuﬁhlr/daf
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: . : xX—>5 x-5 - ‘.
Resolye into partial fraction. e re— S fuﬁu,/uﬁ
What are proper and improper fractions. S AL Azl F sl sl

If X ={1,4,7,9} and Y = {2,4,5,9} Then find: XU Y

XUY oY = 12459 .X= {14791

iii) IF X = {1,4,7,9}and Y = {2,4,5,9} Then find: XN Y

XNY /eI Y = {2459 }X = {1,4,79})

X=0,y=2Z%,T=07%,Thenfind xUY

XUY .y /o iT=0,'X=0,Y=2"/i

If A= NandB =W Then find the valueof A — B

A= By /pd =FTB = WA =N/

IFA=Nand B = WThen find thevalueof B — 4

B — Ay /r# =B = WA =NJi

inddAandBif(3—2a,b—1)=(a—-7),(2b+5)

3—2a,b—1)=(a—7),(2b+5) Siy/r#bua

IfX ={a,b,c}and ¥ = {d, e} then find the number of elements
inY x X

eSS AL s 3 AL dY = [de) o X = {ab,c) Silxvii

Y x X v/

IfL=1{a,b,C}and M = {d, e, f, g} then find two binary
relations in each: L X L

r":l""b_ﬂ:..r&[:f.!.! iuglﬁut,tﬁ,-.f:; M= d.efigy . L={ab,c }xrl'

LxL.y/

Whhat is meant by union of two sets.

?.,;;_Jifkr;_wf_'x.;':u;ﬂ"u

Define cartesian product.

Oy S Bt

Define ordered pair.

?,;:__}Ifkr’:-&-.?ﬁ-,-:}’

Define binary relation and give one example.

e Ly S P S wadé

Define domain set and range set.

-u:f_éf;;uf.;.-;'i? NPT o)1

Define Bi-jective Function. ﬁ'.;;_my’u""u?;&é;
Define function. ) rfr_ﬂ;}"fwfﬂ
Write De Morgan's laws. _é’ufifig"il-ﬁi

Show A N B by Van diagram if A € B.

A EDB ;h_f__f'?:LF.:.rierli.;,f_n(A nB

Show the van diagram A n (A U B)

S e i AN CAUB)

Define Geometric mean. RSPy YW N ]
Define Harmonic mean. N NP AP
What do you understand by measures of Central tendency? TS AL
Define Arithmetic mean. S Sl

Find arithmetic mean by direcikmethod for the set of data
12, 14,17, 20, 24, 29, 35, 45.

L{’;ﬁf:"”hrldufslfﬁ St B )LE_,;LEPI:LI;
45,35,29,24 20,17,14,12

The salaries of five teachers in rupees are., Find range and
standard deviation.
11500, 12400, 15000, 14500, 14800

SN VOV SIS -]

14800,14500,15000,12400,11500

Define mode. Ny e
Define median. SIS S s

Define class limits and class boundries.

qu’ffu?;dgﬁﬁﬂylﬂﬁmﬂ,w&ﬁlﬂ

Define mode and range.

-of ..-"r:-é-'_ LR

Define variance and write its formula.

_-L,r:”r' U=l l) S /‘T Jeod

Find the standard deviation “s” of each set of numbers;
9:3:8:8:9:8,9,19

9.3:8:80.8.9,19 1/ "#'S' 1 /1S s

Write three characteristics of arithmetic mean ?

104 .fr:; *.:.-Evr“i ._)'-r L!I#J.v:rlL}L?
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Find the median 3.1.2.9.2.7.2.5. 2.3, 1.9

3.1,29,2.7,2.5,23, 1.9 &k s

Find the median 93,92.86.82.79

93,92,86,82,79,&% & sy

Find harmonic mean . 10,5, 9, 6

10,5, 9, 6.2 #4154

Define variance and Standard derivation, also write
ungrouped formula

-

Y L,‘EfL..r"JE‘;I_L I'FL,F};F}_JE_ @/l &= W&J;"-ﬁ Jlj'd,a_i:uﬂf-:rj'

ol it | i g it | Gl gy 5 g gl 95 Jold i yditey: 4 ot | Gt

Express the following sexagesimal measures of angles in decimal
form. 60°30'30"

ifl,, t S Sz e nd st yul A
60°30'30"

Express the following into D°M’'S" from . 125.45°

125.45° _Z 28" wD% M f fiousr

Express the following angles into radians. 135°

135° -;_ﬁf-‘,c;,l_*:h.«fu;;;r;

Express the following angles into radians. —150°

81500 L tera s

Convert each of following to degrees. _Tm

IR

Find @ when:1=45m,r=25m

[=45m,r=25m: Gz 6

Find r, when: | = 4cm, 8 = iradius

[l =4cm,0 = % G ey

In a circle of radius 10m. find the distance travelled by a point
moving on this circle if the point makes 3.5 revolution

£3.5) e SOkl 1 Bk SE i S35 L D10

(Tm =

what is the circular measure of the angle between the hands of
the watch at 3 o clock?

- &, =
‘-‘r:_:':fl:a-r:,;l}bﬁu' fﬁ_::fr;;,'gnigff Jﬁf?_’.ﬁ

Prove that. (1 —sin8)(1 + sinf) = cos? @

(1 —sin@)(1 +sin@) = cos? 0./ /=t

Secd+1 sec 41
Prove that, ’ =
seci—1 tan @

Find the angle of elevation of the sun if a 6 feet man'castsa 3.5
feet shadow.

Secf+1 &EEE-I-:LJJ._; f-
sec -1 tan f -

e L3S KT 0L B e K

xxxiii) Define a plane.

R Rt

Define angle of elevation.

- .
= P sl

Define angle of depression.

Ay A7

Find r when |= 56 ¢cm and @ = 45°

L Ir e 0 = 45%.0] = 56 cm 2

Find tan 8 when cos 8 = % andterminal.side of the angle 8 is in
fourth quadrant.

- = P 9
,é’wtﬂﬂﬁfﬁpﬁé;iﬁjﬂdﬁ!ﬁﬂ;;lﬂﬂs A = i1 ..-*'#

If length of the chord AB = 8'emuitsdistance from the centre is
3 cm then find the diameter of such circle.

S B ST 3 el K st 83U S ABL

iv) Define center and radius of circle.

= - L - =
- Ul 2l e Al

Define circumference of a circle.

Sy RV

Define a diameter of a circle.

-Uff_if,)’jl,':rﬁi:;-ff:

Define collinear points.

S P mmr“
What is meant by Non-collinear points. ot Al e bl b3 A5 F
Define secant of a circle. b i Ve T
Define Polygon. Ay Al 2
Define and draw the sector of a circle. S iy A s S
Define circumcircle. Co sl ol e ol
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Define Isosceles triangle.

§d duad

il il 9 e il G (3) e et iS5

:5 yuiutind J | Guai

Write the quadratic equation irl:he stgndard form and point E — *‘x_z +4 =02l l,LF,‘;HM{;HgJ,JmJWJ o lsls
out pure quadratic equation. — xT +4 =10

Solve the equation by completing square: 7x2 +2x — 1 =10

7xf a2 1202 P JF 20k

B 3x“45
3x+1 _ 3x+1l

Solve by completing square: 4 —

8 3:{' +5
iu A -‘.“;J:*:

dxd1 3x+1

Solve the equation us‘mg quadratic formula: V3x2 +x = 43

\.‘EIZ 4+ X = ‘-1"*."|'_ E#L,P-;_LJL";”J.U.*‘;EJ-;J:U 3l

solve the equation. — + 4( ) 4

—+4( ) 4:5.,?:'.:-'1&

solve the equation. 4.23“1 9.2*4+1=0

—
42%%1 — 92 +1=0 RSP

solve the equation. Vx2 +x+ 1 —-vVxZ2 +x—-1=1

Vit x +1—Vx2+x—1=1.2F Jeil-

Find the value of k, if the roots of the following equations are
equal. (2k — Dx* +3kx+3=10

28 KAl 2k — 1)x2 + 3kx + 3 = Ozblefizinn |
-

Provethat x>+ y3 4+ 23 —3xyz=(x+y+2)(x + wy +
w?2)(x + 0’y + wz)

Py -3xyz=(x+y+2)(x + wy + Sk
w?z)(x + w?y + wz)

0

Find m, if The roots of the equation x% + 7x + 3m —"
satisfy the relation 3a — 26 = 4

L s/l x*+7x+3m—5=0 ity s =Fdm
e 3a—28=4 F

Solve the simultaneous equations. x% + 2y? = 3; ¥ + 4xy =
S5y* =0

x? +29% = 3;x% + dxy — 5y? = 0/ S enbest s o

the product of two positive consecutive numberis 182, find
the numbers

- rrf’sl"‘J.'ﬁl-::_ ] SET’/:’..,HE Kol |_,,|"}')u

Find the dimensions of a rectangle, whose perime-ter is 80 cm
and its area is 375 cm?

e O 3TS IR RO S L L L

the difference of a number and/its.reciprecal is % find the
number.

r 15 . . -
-/ I*"f’":ﬁ.,rl'_ T L,J,-’FL;':C""J. et |

G’ﬂidlgnl

3 3

i) Find x in the proportien. p + pq + q%: x:: = e (p — | pP+pq+qex:: I}p: (p —-& o ed (XUt
7)° Q*
Find x in the proportion. 8 —x: 11 — x::16 — x:25 — x 8— 11— x::16 — x: 25 —Eﬁfﬂ"a‘fufxut._ft?

X

Using theorem of component divided Find the value of

m+5n , m+5p i ~. 10mp
m-5n m-5p’ " n+p

w < _M+5n  m+5p

=g U

Ll S el S e
YiFm =R Sy S

n+mp

‘m-5n m=5p
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Using theorem of component divided Find the value of
x=3y  x+3z if y — 3vz

y—==Z

X+3y x-3z'

5 rx—3¥
— 3 —
x+3y

X137 E_ﬂifdb}l:rrjul:"gﬁﬁr}'ﬁ*’

X—3Z

s

3 #
d;_,:)f;_.,""x :}-'_i Jluﬂfﬁ’rl”

Using theorem of component divided Solve
VaZ424vVxZ-2 9
ViZia—x2-2

Vx2+2+Vx2-2 - v ey o L e
m=-4JJE_ﬁL)JL‘“F#Wj#}F
2

The kinetic energy (K.E) of a body varies jointly as the

mass "m" of the body and the square of its velocity "v"".

if the kinetic energy is 4320 ftlb when the mass is 451b
and the velocity is 24ft/sec, determine the kinetic
energy of a 3000b automobile travelling 44 ft sec.

r

E LGS "mt e § 47 (K E)uid 78~ oy
43200038 77 Ltk §24meafiyaAs S S 7
S7S8winx 300040 S o b §eiddinzy 3

S

c a®+c3+e? ace

a*+c+e’ c e =

If% =-= ﬁ then show that birdiif3  bar DI diif ] %Iﬁmt‘; % =-= FJ |
Resolve into partial fraction, {i; ;:13} fi:iils} J/ ;_J:.Eui'u:/’dﬁ
Resolve into partial fraction. (x+33:;{_::3’-'1+1} {x+3:];}21+1] -,;fufucu,/d,;z
Resolve into partial fraction. zz: i:: ,.u:fd:’.f{_,tfu;/d;ﬁ

7 yiepud J | it

IfA ={1,2,3,4,5,6},B = {2.4.6.8},C = {1,4,8} Prove the
identities: AU (BNC) = (AUB)N (AU C)

bt TRAE $1,234560,B=1{24,68,C={148.

,
-J/

U=1{1234,5,6,78910}A = {1,3,5,7,9}B =
{2,3,5,7}Then verify the De-Morgan's Laws i.e (4 0-5)" =
A'UPB

=B ,{1,3,5,7,9}=A,{U={1,2,34,56,7,8,9,10..)
(ANB) = A'UB . /3 dld S M85952.3,5,7

fU = {1,2,34,...,10}A = 1,3,5,7,9}B = {1,4,7,10} Then
verify the questions - (AUB)' = A'UB’

B=1{1,52810A={1,4710U={1,234,. 10%./

AUB) =Skl fUrdizieinC={1,5,8, 10}
A'UB’

fL={x|lxeENAx <5} M=|fL{ylyenpdy <10}
Then make the following relations from Lto M R, =
{xy)ly=x}

L={x|x€ENAx<5}LM=|fL{y |y € pAy </
RE =-U:DE@JJ}|L}¢§5L{&’Jﬁ-p§%ﬁ&”b{MLL4—iﬁ:tr:"iﬁ;"; 1[]]
{xy) ly=xj}

The salaries of five teachers in rupees are., Find
range and standard deviation.1 1500, 12400, 15000,
14500, 14800

_;_,fgr}:h"_.;l;?:id.f?ﬂﬂh;ﬂ*” B f"n"l';j'l'ﬂ.;_};:h'"i..-‘.lé-g
14800,14500,15000,12400,11500

Find the standard deviation “s” of each set of
numbers: 9:3:8:8:9:8,9.19

9:3:8:8:9:8,9,19_ 1/ 'S Uit 71§ s

On a vacation trip a family bought 21.3 liters of petrol
at 39.90 rupees per liter 18.7 liters at 42.90 rupees per
liter, and 23.5 liters at 40.90 rupees per liter. Find the
mean price paid per liter.

A88539.900s 5 221 3 v LiLnd o L7 o tuss
Js a2 S P 040.900s 5723500 23 0.42.900): £/18.7.
L Al

:8 yuiutind J ) Qi

Prove that. (cot@ 4 cosec8)(tanf —sinf) = secl —
cos

(cot8 + cosecH)(tan @ — sin ) = sech — S ek
cos 6

cos® g
sinfd—-cos @

sinf+cosf
tan® #-1

Prove that.

cos® @
sin @—cos @

sinf+cos@
tan® #-1

.J’L.-:../[iu:-':f'
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5in @

1+s5in @ 1=s5in@

Prove that, ——— — ——— = 4tan fsect —  —— = 4tan Osec Oy S =t
1-sinf  1+sind 1-sinf  1+sind "

A 20 feet long ladder is leaning against a wall. The button 5 ol ity i B 5 . WA Lt 28 232000
of the ladder is 5 feet from the base of the Wall. Find the sk o ¢ )
acute angle (angle of elevation) the ladder makes with the kAL GRIL RS (R U e
ground.
Prove that - (1 —sin® 8)(1 + tan* ) = 1 (1—sin2@)(1 +tan? @) = 1Sk
Divide an arc of any length (i) Into two equal parts. (ii) Into G ide2 S s g 083Uy
four equal parts . : ) T
Circumscribe a circle about an equilateral triangle ABC _ﬁ|;4l_‘gu S LTS its o EABCEE oyl Ssl-
with each side of length 4 cm. * '
Inscribe a circle in an equilateral triangle ABC with each *”"f-SJL’J S 1 L S 2L rd yar N ABC 2 o1 S sl
side of length 5 cm. ' '
Draw two equal circles of each radius 2.4 cm. if the _pidgﬁ;,5_,;,,,,_,;L}E,”Ef;ﬂf;_;..,rﬂ_u._;fg_;l,L_;,,W,,:,j__,,ur.ljlrg_il
distance between their centers is draw to direct common 5

_L’_r'ﬁ,f ur"-"'}l...-'r
tangents.
raw two common tangents to two touching circles of radii #u,i_:,%’u,. S E. ne A 2.5 Sl st nl S s
2.5 cm and 3.5 cm.
Draw circles which touches both the arms of angles(i) 45° (i).45° (i) 60252 s iU Ut e sz et
(ii) 60° )

. # *
(I g g0 38 : cmbicstd) : 9 gubind J | Gt
If two chords of a circle are congruent then they will be | L U deWiSslee S pmdunt B L i1 S S ek
equidistant from the centre. | )
) I._;r;uii"_-jra'l,_:r.

The measure of a central angle of a minor arc of a circle,-is J:-"”’in,f::'f;_,rf.iwfﬁ’:.,lui;lﬁ::Ud?}du;i;;a;’“
double that of the angle subtended by the

—ebvlle &

CorrectAnswer K

ON « NNy 5 NN ¢ NG

(A) (B) (C)

151
161 [N 152 JEN 16 J 165
A © KA o B8 o BA » B2
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